Qy=12 ©y=—+3
)1c X
© y:§x+3 ® y=-3(x+1)
@ y=x(x+1) ® xy=3
@y:xgl © y=2x
® OG,06,6 ® ©,0,6,06 ® @, 0,6

@® 6,6 80 ®6,6,0e,®






o

% 99 g 4

= -+4dy=ax+2=x
¥4

@ 2 ® 4

@1



3
y = Sx- 1014y 32l 2710 6 A ), x 3te] S71L

@ 4 ®

| ©



A2} y = 2x — 39] T zLo] 787 = lo]q
o _ (}’94 %}:94 %7}‘1«:}:)
UH#7) = Carger = om

0] 1P = 71 &7 7 ol R BE Q)= i
A~
T

[e]

= —2x+ 3] x ] gko] 2014 5712] W5t y o]

L



3
P T =R ke
Gy=ox-49 e BT, A (2 -2) B AU
WA x 2

At x =,y Fo2 S =3 9] "olE ket



7.

71€717F 40]1 (0, -8)S A}
At o 0] gk Fokei et

kdEa=



8.

a+ b €] 3 ool

> L
=%



2] 15°C AR WIS 7Hdsto] 96 °C 7] L&

7T, 48] 9°CH LE7} Wolikn &
A3t okl AL WAIA

T AT o

. 1=}
D R 2

2 23ch} 943
R E CESSs
B 2 5917 atele)

ol

Jo



ool 7]

2x—2ay+4 =02 1

>~

AP A

y=ax—a+ 22 1

Q]
=
[e)

10.

o]y

@ 2 @ 3 @ 4 ® 5

D1



o] o b

2x -3y +6 =02 Z17

Al
al

ol

ol
o8

ofg

Xfo
,mo

ol
B
Ul

oy
o
RS
B
o
RN
6° &
io _ﬂ:
aj_ =
H N
iy
M o
[a\
o +
= =
[S\MEarla
I Il
- -
A
T R
OGS
on o
® ©



12.

o2 Ul Ao a2 Sl =go] At
o] & otk (2, m>0)

7t

Fd o,

= m

x=m, x=-m, y=4, 3y+12=0

&=
=%



Ty=x-3, y=ax+4 2] 17}
W ZE o, a O] S ot

yl\
N
y=z—3
0 / i 7
2
y=azr+4



14.

DALy = ax+b o T2 A4 243y -2 = 0 2 Tz}
Gastal, A4 3x -2y -4 =0 y 5 FlollA] whdt} o] ofj, A4
ab 1 g a+b ol g7

\]
0]
[



oty = —4x +89] 1o} wHo]

® 4x-8-y=0 @ 4x-y+8=0 ® y-4x-8=0

@ y+4x-8=0 ©@ y+4x+8=0



Eg}\ﬂ.g EH,\:]—

=

1
v

=
e

@ 0

]

=
o

=

094 %}:O] %

©)

A(2, 1), B(4, 5)



17.

9 W97 -1, 19

= 0]
=

7}

SFA

BnT Yy =

x+2%y=3x+b7} Uk

= AA0] el WMol QAT W, A4 a, O] TS Fotol

2h(, a > 0)

>
=%



18.

SRS

u—ry=—2x+594:LEHET‘Z:— =9]

shREI QAR

of g2 Fsfolet.

y=ax-391

5 L
=%

£



19. ohe Tejmel g AR

yl\
O
1
1
@y——X+§ @y=x-1
@y*—%x—l @y:2x—1



20.

th2 2ol A oABCD & #AtZtgo

&
X

(s} =
P7t A AS U5t iz 20m 9] 20
2 Az o] B4 uet 4 B, C, D7

8ol Holetn & W, x 2 Fo 0ABCP
o] o2 yem? 21 g}, 4 P71 TD 9]
9l u, y2 xof T Alo 2 Liehyw?

O y=44-2x @ y = 20x + 240

@ y =240 - 20x ® y =240 - 10x

_.-20cm- _ _ D
yem? |
12cm
P II
B C

® y = 20x-200



